Gi=laelsEl  SWING CLAMPS <TYPE 5> No.E-931755
Y . Y D e =
BERIREL(ELLSE ERoN’
RERIE E LS
THETR ML FEALE
RERIE I L #XHRC30

BB R R K3 e S EY

HE L i it e o S 4 53

%SE | S45C | BKHRC30 | zBaE

W
950192 | SS-04035A | M 6x1.0 = SS-16 - SH-04035B = 16 35- 42 2 2 0.04
950193 | SS-06045A | M 8%1.25 S5-18 = SH-06045B @ 18 45- 53 35 55 0.11
950194 | SS-06050A | M 8%1.25  S5-18 = SH-06053B = 18 53- 61 35 5.5 0.12
930149 | SS-08050A | M 8x1.25 S5-20 - SH-08050A = 20 50- 60 11 6 0.16
930150 | SS-08060A | M 8x1.25 SS-20  SH-08060A = 20 60- 70 11 6 0.19
930151 | SS-08070A | M 8%1.25 SS5-20  SH-08070A - 20 70- 80 11 6 0.22
914824 | SS-12090A | M12x1.75 = S5-35  SH-12090A = 36 93-105: 53 15 0.63
914825 | SS-12105A | M12x1.75  SS-35 - SH-12105A 36  108-120 53 15 0.73
- 914826 | SS-12120A | M12x1.75  S5-35  SH-12120A . 36  123-135. 53 15 0.83
914827 | S5-12135A | M12x1.75  S5-35  SH-12135A 36  138-150 53 15 0.92
"""""""""" 914828 | S5-12150A | M12x1.75 = S5-35  SH-12150A : 36  153-165: 53 15 1.01
WEAE 914829 | $5-12090B | M16X2 S5-35 - SH-12090B © 36 93-105 53 15 0.63
------------------- 914830 | $5-12105B | M16%2 S5-35 . SH-12105B . 36 108-120 53 15 0.73
HETEOH 914831 | S5-12120B | M16%2 S5-35 © SH-12120B 36  123-135 53 15 0.82
914832 | SS5-12135B | M16%2 §5-35  SH-12135B : 36  138-150: 53 15 0.92
914833 | S5-12150B | M16X2 S5-35  SH-12150B . 36  153-165 53 15 1.01
914834 | SS-16090B | M16X2 S5-50  SH-16090B . 50 93-105 59 15 1.08
P 914835 | S5-16105B | M16x2 S5-50 - SH-16105B © 50  108-120: 59 15 1.23
914836 | SS-16120B | M16X2 S5-50 - SH-16120B © 50 123-135: 59 15 1.38
"""""""""" 914837 | $5-16135B | M16X2 S$-50  SH-16135B 50  138-150 59 15 1.53
LT 914838 | $5-16150B | M16X2 S5-50 : SH-16150B i 50 :153-165: 59 15 1.68
EANXEH
R B 1R B
................... @ | BEPREELSE
@ | BEREESLLZESH
FRTR
FEaE. WER
AR O
HLITE#H
%3]

http://www.nabeya.co.jp



WM RS A A
$5-04035A 55-12XXXA %>%e
SS-06XXXA SS-12XXXB NN
SS-08XXXA m@::: /:§§4:f SS-16XXXB m@i} S =
~/ L
il o ‘
e ¢
el
" w
I H M H
W w
G N+ G N
¢H
@H
BE A B C D E i F G H [ C::E D) K L (|%F)
$5-04035A 16 7 7 7 35- 42 13 13 15 3 M 6X1.0 -
$S-06045A 18 9 8 10 45-53 15 = 16 : 18 5 M 8x1.25 - -
$5-06050A 18 9 8 10 53-61 15 @ 16 = 18 5 M 8x1.25 -
SS-08050A | 20 = 12 7 12 50- 60 0 15 © 17 21 6 M 8x125 -
SS-08060A | 20 = 12 7 12 60- 70 15 17 . 21 6 M 8x125 -
SS-08070A | 20 = 12 7 12 70- 80 15 - 17 : 21 6 M 8x125 - -
S$-12090A | 36 = 18 = 15 = 19 93-105 25 - 27 - 32 10 M12X1.75 75  M8x1.25
SS-12105A | 36 = 18 = 15 : 19 108120 25 = 27 : 32 = 10 MI12X1.75 7.5 @ M8X1.25
SS-12120A | 36 18 . 15 . 19 123135 25 = 27 32 = 10 MI2x1.75 7.5  M8x1.25
SS-12135A | 36 18 = 15 : 19 138150 @ 25 = 27 =~ 32 = 10 MI12x1.75 7.5 = M8x1.25
S$-12150A | 36 = 18 15 : 19 153165 : 25 = 27 =~ 32 - 10 MI12x1.75 7.5 = M8x1.25
$5-12090B | 36 = 18 = 15 = 19 93-105 : 25 @ 27 32 : 10 MI16X2 75  M8x1.25
$5-12105B | 36 = 18 = 15 19 108120 25 = 27 = 32 10  M16X2 75  M8x1.25
$$-12120B | 36 = 18 = 15 = 19 123135 25 = 27 = 32 10 M16X2 7.5  M8x1.25
$5-12135B | 36 = 18 = 15 = 19 138150 25 = 27 = 32 10 M16X2 7.5  M8x1.25
§5-12150B | 36 @ 18 - 15 = 19 :153-165: 25 . 27 = 32 = 10 M16X2 75  M8x1.25
$5-16090B 50 . 20 . 15 = 27 93105 25 = 36 = 40 . 14 MI16X2 75  M8x1.25
$5-16105B 50 : 20 : 15 @ 27 108120 25 . 36 - 40 = 14 S M16X2 75  M8x1.25
$5-16120B 50 0 20 : 15 @ 27 123135 25 - 36 = 40 @ 14 M16X2 7.5  M8x1.25
$5-16135B 50 0 20 . 15 = 27 138150 25 . 36 = 40 = 14 M16X2 75  M8x1.25
$5-16150B 50 0 20 15 = 27 153-165 25 . 36 = 40 14 M16X2 75  M8x1.25

AIEER THCADHIE. HITEFEIMA.

D3
E

6 S

HE L ot e B

BT O

I TEBE



